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SUBJECT CODE NO: - Z-1380
FACULTY OF HUMANITIES
B.A. T.Y. (Sem-V)
Examination March / April - 2023
Labour Economics

Please check whether you have got the right question paper.
1) All questions are compulsory.
2) Use black or blue pen only.
3) Use pencil for diagrams.
4) Use of any sign, attracting, prohibited.
1) T4 UY Trsfaul aas 3G
2) Whad el fdhd e UATI aTuR dxrdl

3) MPHIYTS! VAT IR BRIl
4) PIUTCG! BEAYD T[0T T YT H0AN Uldae.

A. Fill in the blanks (attempt all)

1) Globalisation was started in India after the year.

2) Collective bargainingisa  Process.

3) The demand for labour is

4) Twelth five-year plan period was

5) The is the responsibility to pay work a legal wages.

3. RprT ST WR1. (94 3ffar)

1) HRAT ST IhROMe godld g o,
2) ANgIP HlaT sl ufhar G-H%'

3) YA AN S TEvur 3R

4) SRT U=AIN e Aol HIoTS HEIR

5) YTHHHT HTAGIR HASR! GUATH! STEEaRT 8.

B. Answer in a sentence (attempt all)

1) Who is the labour minister of Maharashtra?

2) In which year the monopoly and Restricted trade transaction act was
enacted?

3) which is the period of eleven five-year plan?

4) In which year child labour act was passed?

5) Inwhich year India first factory act was passed?

§. U arerd dﬂi%ﬂ(ﬂa‘&rﬁ?ﬂa‘)

1) HERTY IS DHIHIRH B0 3152
2) HadeR! 31 ufaefd IR BRIt Bt auf o1 TdT?
3) 3BT YA TSI BIGTaE D0 3118 2

4) STOHSR! HIIGT DI TH HoR o1

1

9E26748D4242565DFA5239576EDS0F94

Z-1380

[Max. Marks:50]



Z-1380
5) HRAId Ufg®] SR BRG] HIUT ayf HoR FTST?

Q2 A. Explain concept/ term/ Unit/ event (any two) 10
(Word limitation minimum 60 for each answer)
1) Urban Unemployment.
2) Living wages.
3) Labour Market.
4) Collective Bargaining

3. YHGUAT / I/ g WY D (PIUda! aF)
UAP IR fHHM Zreg qaeT 60 Tq)
1) M6 SRISHIRT
2) fSifdsr aaq
3) AR

4) TP AaraTaRT

B. Attempt in short (any two) 10
(word limit 60)
1) State the causes in wage difference.
2) Explain the concept of Unorganized sector labour.
3) Explain the relationship between employment and development
4) Explain the importance of human capital in supply of labour.

¥, YISHId Ik o8l (@Ivdal &F)
(Vs HUTET §o o)
1) o fHFdT SRIUgR HIROT 1.
2) SRFUCId EAT® HIHIR gl b TqY Bl
3) ISR 30T foTy arm el Tee Ty .

4) YHTE RISATNSG At HISITd Ted DRI,

Q3 Answer in detail (any one) 20
(Word limitation minimum 200 for each answer)
1) Give the definition of Unemployment and state the causes of unemployment in
India.
2) what is meant by minimum wage? give its determination of principles of
minimum wages.

iR IR {681 (PIvrds! Uh)
(2TsG HATGT 200 MeT)
1) SHRIY AR &3 HRATAS dhRId BIRO T
2) gAqH ASR! WU B ? YAaH Aol FufRomd dw g,
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